&

500 (m)

0 ulf) §=1:25.000 =
ORI, [E IR OKBER T, BRI TOR MM
200000 (it BEIR) Ko OB fiE #1425000 (MBI %) 24 R 7%
DTHD, UKIRE S T2LRH. #436%)

\

BRRZNEH |SIEFRMORER

X i F 5 [A2120

X iz % |BEINA

o #E M [REBMRERARTASEREUNX

THREE AR L5

FAIZERRE X

e

BELDREXD N (KN/m?) 101.8
BEEOmX(m) 1.0
HEIZEDHDBKRIE(KN/m") 1.5
BiIEE 0O X(m) 2.3

TR EER X

TRZEDESIAIMUTOES.
TEZEDOBEI-LDHH100KN/m2E B2 5K

S E
ey |[TRSORROBSHInERA SRS )
TR QRS ]

T LB ER /N

FFEF R IR

0 50 100 (m)

=AM
SCALE=1:2, 500

e
N ~

AR




